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Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

Oxo`utkvo suiigryOxo`utkvo suiigry
Eymgik` spo`trui scgrkml (EPP) to`cmbjbly gjjbws spo`trui rosbur`os tb no scgroe eymgik`gjjy notwoomEymgik` spo`trui scgrkml (EPP) to`cmbjbly gjjbws spo`trui rosbur`os tb no scgroe eymgik`gjjy notwoom
5L (Jbml Uori Ovbjutkbm (J5L (Jbml Uori Ovbjutkbm (JUO)) UO)) gme ?L Mow ^gekb (M^) rgekbs. 5L `bvorglo rbjjbut tbba sovorgj yogrsgme ?L Mow ^gekb (M^) rgekbs. 5L `bvorglo rbjjbut tbba sovorgj yogrs
wktcbut EPP, skm`o mow spo`trui, mow gmtommgo gme mow ^gekb Drwktcbut EPP, skm`o mow spo`trui, mow gmtommgo gme mow ^gekb Droquom`y (^D) oquom`y (^D) umkts woro roqukroe. Kmumkts woro roqukroe. Km

`bmtrgst, `biiumk`gtkbm sorvk`o prbvkeors (@PVs) `gm nukje ?L `bvorglo g jbt dgstor no`guso tco spo`trui,`bmtrgst, `biiumk`gtkbm sorvk`o prbvkeors (@PVs) `gm nukje ?L `bvorglo g jbt dgstor no`guso tco spo`trui,tco gmtommg gme tco ^D umkts `gm mbw no scgroe notwoom oxkstkml 5L gme oiorlkml ?L eopjbyiomtstco gmtommg gme tco ^D umkts `gm mbw no scgroe notwoom oxkstkml 5L gme oiorlkml ?L eopjbyiomts
uskml EPP.uskml EPP.

Dkluro 7 kjjustrgtos tco EPP `bm`opt. Ucks Mbakg wckto pgpor butjkmos tco EPP to`cmbjbly, Mbakg‛s EPPDkluro 7 kjjustrgtos tco EPP `bm`opt. Ucks Mbakg wckto pgpor butjkmos tco EPP to`cmbjbly, Mbakg‛s EPP
sbjutkbm gme tco prg`tk`gj gspo`ts bd eopjbyiomt.sbjutkbm gme tco prg`tk`gj gspo`ts bd eopjbyiomt.

Dkluro 7. EPP `bm`opt gjjbws dgst ?L `bvorglo rbjjbutDkluro 7. EPP `bm`opt gjjbws dgst ?L `bvorglo rbjjbut

EPP dum`tkbmgjkty wgs eomoe km 0LVV stgmegrekzgtkbm gme Mbakg wgs g ighbr `bmtrknutbr tb tcgt prb`oss.EPP dum`tkbmgjkty wgs eomoe km 0LVV stgmegrekzgtkbm gme Mbakg wgs g ighbr `bmtrknutbr tb tcgt prb`oss.
EPP `gpgnkjkty cgs noom nukjt kmtb Mbakg‛s cgrewgro gme sbdtwgro, wktc GkrP`gjo ngsongme gme GkrP`gjo gmeEPP `gpgnkjkty cgs noom nukjt kmtb Mbakg‛s cgrewgro gme sbdtwgro, wktc GkrP`gjo ngsongme gme GkrP`gjo gme
Djoxk rgekb cgrewgro pjgtdbris rogey tb suppbrt kt. Ikjjkbms bd Mbakg 5L ^D umkts gjrogey km tco oje `gmDjoxk rgekb cgrewgro pjgtdbris rogey tb suppbrt kt. Ikjjkbms bd Mbakg 5L ^D umkts gjrogey km tco oje `gm
no uplrgeoe tb suppbrt ?L, wck`c omgnjos dgst rbjjbut bd ?L `bvorglo gme g``oss tb ?L sorvk`os. Mbakg‛sno uplrgeoe tb suppbrt ?L, wck`c omgnjos dgst rbjjbut bd ?L `bvorglo gme g``oss tb ?L sorvk`os. Mbakg‛s
GkrP`gjo ngsongme sbdtwgro prbvkeos dgst eymgik` rosbur`o gjjb`gtkbm notwoom 5L gme ?L tb igxkikzo tcoGkrP`gjo ngsongme sbdtwgro prbvkeos dgst eymgik` rosbur`o gjjb`gtkbm notwoom 5L gme ?L tb igxkikzo tco
systoi o`kom`y.systoi o`kom`y.

EPP wktc ?L `grrkor gllrolgtkbm (@G) rojogsos tco dujj pbtomtkgj bd tco to`cmbjbly, ospo`kgjjy wcom `binkmoeEPP wktc ?L `grrkor gllrolgtkbm (@G) rojogsos tco dujj pbtomtkgj bd tco to`cmbjbly, ospo`kgjjy wcom `binkmoe
wktc stgmegjbmo (PG) gr`ckto`turo. @G prbvkeos tco cklcost egtg rgtos wckjo PG igxkikzos jbw-ngmewktc stgmegjbmo (PG) gr`ckto`turo. @G prbvkeos tco cklcost egtg rgtos wckjo PG igxkikzos jbw-ngme
`bvorglo gme g``oss tb ?L sorvk`os. EPP wkjj no suppbrtoe ny g lrbwkml muinor bd ?L eovk`os drbi >6>6`bvorglo gme g``oss tb ?L sorvk`os. EPP wkjj no suppbrtoe ny g lrbwkml muinor bd ?L eovk`os drbi >6>6
bmwgres, wktc wkeosproge suppbrt dbr eovk`os wktc EPP, PG gme @G gvgkjgnjo eurkml tco `burso bd >6>7. Ucobmwgres, wktc wkeosproge suppbrt dbr eovk`os wktc EPP, PG gme @G gvgkjgnjo eurkml tco `burso bd >6>7. Uco
kmtrbeu`tkbm bd Mbakg‛s EPP `gpgnkjkty tcorodbro gjklms wktc tco lrbwkml gvgkjgnkjkty bd eovk`os.kmtrbeu`tkbm bd Mbakg‛s EPP `gpgnkjkty tcorodbro gjklms wktc tco lrbwkml gvgkjgnkjkty bd eovk`os.

Mbakg‛s EPP sbjutkbm oxtomes noybme tco 5L/?L trgmsktkbm tb km`jueo eymgik` scgrkml notwoom >L, 0L gmeMbakg‛s EPP sbjutkbm oxtomes noybme tco 5L/?L trgmsktkbm tb km`jueo eymgik` scgrkml notwoom >L, 0L gme
5L to`cmbjblkos. Ucks omgnjos g sibbtcor ovbjutkbm tb ?L eopjbyiomts.5L to`cmbjblkos. Ucks omgnjos g sibbtcor ovbjutkbm tb ?L eopjbyiomts.

5L5L ?L?L

Urgektkbmgj rgekbUrgektkbmgj rgekb

motwbra rbjjbutmotwbra rbjjbut

5L+?L5L+?L

•• Mow spo`truiMow spo`trui

•• Mow gmtommgMow gmtommg

•• Mow ^D umktsMow ^D umkts

Eymgik` spo`truiEymgik` spo`trui

scgrkml rbjjbutscgrkml rbjjbut

•• ^ouso oxkstkml spo`trui^ouso oxkstkml spo`trui

•• ^ouso oxkstkml gmtommg^ouso oxkstkml gmtommg

•• ^ouso oxkstkml ^D^ouso oxkstkml ^D

•• ^osbur`os scgroe^osbur`os scgroe

eymgik`gjjy notwoom 5Leymgik`gjjy notwoom 5L

gme ?Lgme ?L
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?L spo`trui bvorvkow gme EPP?L spo`trui bvorvkow gme EPP
?L ks tco rst ovor ibnkjo rgekb systoi tcgt ks eosklmoe tb uso gmy spo`trui drbi nojbw 7 LCz up ?L ks tco rst ovor ibnkjo rgekb systoi tcgt ks eosklmoe tb uso gmy spo`trui drbi nojbw 7 LCz up tbtb
ikjjkiotikjjkiotor wgvos. ?L ks or wgvos. ?L ks gjsb eosklmoe tb no eopjbyoe km jk`omsoe, scgroe gme gjsb eosklmoe tb no eopjbyoe km jk`omsoe, scgroe gme umjk`omsoe spo`trui ngmes.umjk`omsoe spo`trui ngmes.
?L `gm uso ?L `gm uso DrDroquom`y Ekvkskbm Eupjox (DEE) to`cmbjbly dbr pgkroe spo`trui gme oquom`y Ekvkskbm Eupjox (DEE) to`cmbjbly dbr pgkroe spo`trui gme Ukio Ekvkskbm EupjoxUkio Ekvkskbm Eupjox

(UEE) to`cmbjbly dbr umpgkroe spo`trui. EPP to`cmbjbly ks rojovgmt dbr jbw-ngme DEE spo`trui, (UEE) to`cmbjbly dbr umpgkroe spo`trui. EPP to`cmbjbly ks rojovgmt dbr jbw-ngme DEE spo`trui, wcorowcoroEPP `gm prbvkeo oxknjo rodgrikml drbi JUO tb ?L. Dkluro > ks gm bvorvkow bd tco ?L spo`trui bptkbms.EPP `gm prbvkeo oxknjo rodgrikml drbi JUO tb ?L. Dkluro > ks gm bvorvkow bd tco ?L spo`trui bptkbms.

Dkluro >. EPP `gm no usoe dbr 466 ‐ >466 ICz ngme oxknjo rodgrikml tbwgres ?LDkluro >. EPP `gm no usoe dbr 466 ‐ >466 ICz ngme oxknjo rodgrikml tbwgres ?L

EPP km tco pcysk`gj jgyorEPP km tco pcysk`gj jgyor
EPP gjjbws @PVs tb scgro rosbur`os eymgik`gjjy notwoom 5L gme ?L km EPP gjjbws @PVs tb scgro rosbur`os eymgik`gjjy notwoom 5L gme ?L km tkio gme/br droquom`y ebigkms,tkio gme/br droquom`y ebigkms,
gs scbwm bm tco jodt bd Dkluro 0. Kt‛s g skipjo keog km prkm`kpjo, nut wo gs scbwm bm tco jodt bd Dkluro 0. Kt‛s g skipjo keog km prkm`kpjo, nut wo gjsb mooe tb `bmskeor tco eotgkjoegjsb mooe tb `bmskeor tco eotgkjoe
stru`turo gt tco jovoj bd tco rosbur`o njb`a km breor tb umeorstgme tco rosbur`o gjjb`gtkbms dbr tco `bmtrbjstru`turo gt tco jovoj bd tco rosbur`o njb`a km breor tb umeorstgme tco rosbur`o gjjb`gtkbms dbr tco `bmtrbj
`cgmmojs gme rodorom`o sklmgjs. G skmljo rosbur`o njb`a ks scbwm bm tco rklct skeo bd Dkluro 0.`cgmmojs gme rodorom`o sklmgjs. G skmljo rosbur`o njb`a ks scbwm bm tco rklct skeo bd Dkluro 0.

Uco ?L pcysk`gj jgyor ks eosklmoe tb no sb skikjgr tb 5L Uco ?L pcysk`gj jgyor ks eosklmoe tb no sb skikjgr tb 5L km 0LVV tcgt EPP no`bios dogsknjo wktc tco sgiokm 0LVV tcgt EPP no`bios dogsknjo wktc tco sgio
sun`grrkor spg`kml gme skikjgr tkio ebigkm sun`grrkor spg`kml gme skikjgr tkio ebigkm stru`turo. EPP ks eosklmoe tb no ng`awgres `bipgtknstru`turo. EPP ks eosklmoe tb no ng`awgres `bipgtknjo wktcjo wktc
gjj oxkstkml JUO eovk`os. @PVs tcorodbro mooe tb igkmtgkm JUO `ojj rodorom`o sklmgj (@^P) trgmsiksskbm. ?Lgjj oxkstkml JUO eovk`os. @PVs tcorodbro mooe tb igkmtgkm JUO `ojj rodorom`o sklmgj (@^P) trgmsiksskbm. ?L
trgmsiksskbm ks eosklmoe grbume JUO @^P km gm gpprbg`c `gjjoe @^P rgto igt`ckml.trgmsiksskbm ks eosklmoe grbume JUO @^P km gm gpprbg`c `gjjoe @^P rgto igt`ckml.

?L usos eoibeujgtkbm rodorom`o sklmgjs (EI^P), wck`c gro bmjy trgmsikttoe tblotcor wktc ?L egtg gme?L usos eoibeujgtkbm rodorom`o sklmgjs (EI^P), wck`c gro bmjy trgmsikttoe tblotcor wktc ?L egtg gme
sb ikmkikzo gmy kipg`t bm JUO `gpg`kty. Kd gjj JUO eovk`os suppbrt Urgmsiksskbm Ibeo ; (UI;), tcomsb ikmkikzo gmy kipg`t bm JUO `gpg`kty. Kd gjj JUO eovk`os suppbrt Urgmsiksskbm Ibeo ; (UI;), tcom
tco scgroe `grrkor cgs tco scgroe `grrkor cgs jbwor bvorcoges no`guso joss @^P trgmsiksskbm ks jbwor bvorcoges no`guso joss @^P trgmsiksskbm ks roqukroeroqukroe. Uco `bmtrbj `cgmmoj. Uco `bmtrbj `cgmmoj
trgmsiksskbm gme tco egtg trgmsiksskbm `gm no sojo`toe eymgik`gjjy notwoom JUO gme ?L, eopomekml bmtrgmsiksskbm gme tco egtg trgmsiksskbm `gm no sojo`toe eymgik`gjjy notwoom JUO gme ?L, eopomekml bm
tco kmstgmtgmobus ̀ gpg`kty tco kmstgmtgmobus ̀ gpg`kty roqukroroqukroiomts.iomts.

46466 ‐6 ‐ >4>46666

ICzICz

0.0.0 ‐0 ‐ ?.6 ?.6 LCLCzz
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Dkluro 0. 5L gme ?L rosbur`o scgrkml km tkio gme Dkluro 0. 5L gme ?L rosbur`o scgrkml km tkio gme droquom`y ebigkmdroquom`y ebigkm

EPP km tco pcysk`gj jgyorEPP km tco pcysk`gj jgyor
EPP gjjbwsEPP gjjbws

EPP uso `gsos wktc stgmegjbmo gr`ckto`turo gme `grrkorEPP uso `gsos wktc stgmegjbmo gr`ckto`turo gme `grrkor
gllrolgtkbmgllrolgtkbm
EPP `gm prbvkeo dujj nomots dbr @PVs wcom eopjbyoe tblotcor wktc twb btcor to`cmbjblkos8 PGEPP `gm prbvkeo dujj nomots dbr @PVs wcom eopjbyoe tblotcor wktc twb btcor to`cmbjblkos8 PG
gr`ckto`turgr`ckto`turo wktc tco o wktc tco ?L `bro motwbra gme @G ?L `bro motwbra gme @G km tco eovk`os. Uco km tco eovk`os. Uco bptkiui `binkmgtkbbptkiui `binkmgtkbm bd EPP wktc m bd EPP wktc PGPG
gr`ckto`turo gme @G eopomes bm tco bporgtbr-spo`k` spo`trui sktugtkbm gme bm tco ?L `bvorglo tgrlots.gr`ckto`turo gme @G eopomes bm tco bporgtbr-spo`k` spo`trui sktugtkbm gme bm tco ?L `bvorglo tgrlots.

Dkluro 5 kjjustrgtos tco eo`kskbm troo dbr EPP dogturo sojo`tkbm. Kd tco tgrlot ks tb igxkikzo ?L `bvorgloDkluro 5 kjjustrgtos tco eo`kskbm troo dbr EPP dogturo sojo`tkbm. Kd tco tgrlot ks tb igxkikzo ?L `bvorglo

tcom tco `binkmgtkbm bd EPP gme tcom tco `binkmgtkbm bd EPP gme PG ks prodorrPG ks prodorroe. Kd tco oe. Kd tco @PV usos EPP @PV usos EPP wktc mbm-stgmegjbmo (MPG)wktc mbm-stgmegjbmo (MPG)
gr`ckto`turgr`ckto`turo tcom ike-ngme 5L o tcom ike-ngme 5L ks mooeoe dbr tco gm`cbrkml ks mooeoe dbr tco gm`cbrkml gme kt gme kt `gm jkikt tco `gm jkikt tco `bvor`bvorglo. Uypk`gj eovk`osglo. Uypk`gj eovk`os
gro mbt gnjo tb suppbrt jbw-ngme 5L wktc jbw-ngme ?L. Kd tco bporgtbr cgs ike-ngme (>.? LCz br 0.?gro mbt gnjo tb suppbrt jbw-ngme 5L wktc jbw-ngme ?L. Kd tco bporgtbr cgs ike-ngme (>.? LCz br 0.?
LCz) ?L, tco twb ?L droquom`kos scbuje no gllrolgtoe tblotcor, wck`c `gjjs dbr tco suppbrt bd EPP gmeLCz) ?L, tco twb ?L droquom`kos scbuje no gllrolgtoe tblotcor, wck`c `gjjs dbr tco suppbrt bd EPP gme
?L `grrkor gllrolgtkbm. EPP bm jbw droquom`y ngmes eojkvors ?L `bvor?L `grrkor gllrolgtkbm. EPP bm jbw droquom`y ngmes eojkvors ?L `bvorglo. PG nrkmls mow glo. PG nrkmls mow ?L sorvk`os gme?L sorvk`os gme
lrogt `bvorlrogt `bvorglo. ?L @glo. ?L @G gjjbws tco @PV G gjjbws tco @PV tb `binkmo jbw-ngme gme ike-ngme tb `binkmo jbw-ngme gme ike-ngme rosburrosbur̀ os tblotcor dbr cklc`os tblotcor dbr cklc
egtg rgtos. Ucoso aoy to`cmbjblkos gro suiigrkzoe km Dkluro ?. Uco rojgtkbmsckp notwoom tco dogturos ksegtg rgtos. Ucoso aoy to`cmbjblkos gro suiigrkzoe km Dkluro ?. Uco rojgtkbmsckp notwoom tco dogturos ks
kjjustrgtoe km ibro eotgkj km tco dbjjbwkml so`tkbms.kjjustrgtoe km ibro eotgkj km tco dbjjbwkml so`tkbms.

  

9 5L egtg9 5L egtg

766 is766 is

>6 ICz>6 ICz

Ukio gme droquom`yUkio gme droquom`y

ebigkm gjjb`gtkbmebigkm gjjb`gtkbm

9 5L eg9 5L egtg, brtg, br ?L egt?L egtg &g &

?L rodorom`o?L rodorom`o

9 5L rodorom`o9 5L rodorom`o

9 5L/?L `bmtrbj9 5L/?L `bmtrbj

7 is 7 is sun-drgiosun-drgio

736 aCz736 aCz

^osbur`o njb`a^osbur`o njb`a

stru`turo km JUO/?Lstru`turo km JUO/?L

9 ?L egtg9 ?L egtg

6.6< is syinbj6.6< is syinbj



  

44 \ckto pgpor\ckto pgpor

Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

Dkluro 5. Eo`kskbm troo dbr EPP dogturo sojo`tkbmDkluro 5. Eo`kskbm troo dbr EPP dogturo sojo`tkbm

Dkluro ?. EPP wktc ?L `bro motwbra gme ?L `grrkor gllrolgtkbm eojkvors tco bptkiui sot bd ?L nomotsDkluro ?. EPP wktc ?L `bro motwbra gme ?L `grrkor gllrolgtkbm eojkvors tco bptkiui sot bd ?L nomots

Ptgmegjbmo gr`ckto`turo wktc EPPPtgmegjbmo gr`ckto`turo wktc EPP

Uco rst vorskbm bd ?L ks ngsoe bm MPG gr`ckto`turo, wcoro tco 5L Ovbjvoe Vg`aot @bro (OV@) ks usoe km tcoUco rst vorskbm bd ?L ks ngsoe bm MPG gr`ckto`turo, wcoro tco 5L Ovbjvoe Vg`aot @bro (OV@) ks usoe km tco
`bro motwb`bro motwbra gme 5L gme ?L ra gme 5L gme ?L rgekbs gro usoe wktc eugj `bmmo`tkvkty (E@). Km tcks wgy, MPG `gm no usoe tbrgekbs gro usoe wktc eugj `bmmo`tkvkty (E@). Km tcks wgy, MPG `gm no usoe tb
`binkmo ike-ngme ?L wktc jbw-ngme `binkmo ike-ngme ?L wktc jbw-ngme 5L uskml eugj 5L uskml eugj `bmmo`tkvkty dbr ibnkjo nrbgengme sorvk`os (soo jodt`bmmo`tkvkty dbr ibnkjo nrbgengme sorvk`os (soo jodt
so`tkbm bd Dkluro 4). PG wktc tco ?L `bro motwbra nrkmls mow sorvk`o bppbrtumktkos tcgmas tb kts omcgm`oeso`tkbm bd Dkluro 4). PG wktc tco ?L `bro motwbra nrkmls mow sorvk`o bppbrtumktkos tcgmas tb kts omcgm`oe
suppbrt dbr motwbra sjk`kml, wktc eymgik` suppbrt dbr motwbra sjk`kml, wktc eymgik` s`gjgnkjkty gme gegptgnkjktys`gjgnkjkty gme gegptgnkjkty. PG, ny . PG, ny eomktkbm, ebos mbt uso E@eomktkbm, ebos mbt uso E@
km tco rgekb skm`o tcoro ks mb `bmmo`tkbm tb tco 5L rgekb. Kt `gmmbt tcorodbro tgao gevgmtglo bd jbw-ngmekm tco rgekb skm`o tcoro ks mb `bmmo`tkbm tb tco 5L rgekb. Kt `gmmbt tcorodbro tgao gevgmtglo bd jbw-ngme
5L. Uco sbjutkbm ks tb uso ?L 5L. Uco sbjutkbm ks tb uso ?L wktc EPP km gjj br wktc EPP km gjj br pgrt bd gm oxkstkml 5L (jbw) ngme tb nbbst ?L `bvorglo, gspgrt bd gm oxkstkml 5L (jbw) ngme tb nbbst ?L `bvorglo, gs
scbwm km tco rklct so`tkbm bd Dkluro 4.scbwm km tco rklct so`tkbm bd Dkluro 4.
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Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

Dkluro 4. ?L DEE bporgtkml km jbw ngmes (tcgt gro `urromtjy usoe dbr 5L sorvk`os) ks roqukroe dbr PGDkluro 4. ?L DEE bporgtkml km jbw ngmes (tcgt gro `urromtjy usoe dbr 5L sorvk`os) ks roqukroe dbr PG
eopjbyiomeopjbyiomts skm`o eugj ts skm`o eugj `bmmo`tkvkty notwoo`bmmo`tkvkty notwoom ike-ngme ?L m ike-ngme ?L gme 5L jbw gme 5L jbw ngmes ks mbt gvgkjgnjo km ngmes ks mbt gvgkjgnjo km PGPG

?L ̀ grrkor gllrolgtkbm wktc EPP?L ̀ grrkor gllrolgtkbm wktc EPP

MPG `gm uso MPG `gm uso 5L @G tb 5L @G tb `binkmo tco rgekb rosbur`os drbi iujtkpjo 5L ngmes tb prbvkeo gm geektkbmgj`binkmo tco rgekb rosbur`os drbi iujtkpjo 5L ngmes tb prbvkeo gm geektkbmgj
`gpg`kty nbbst. 5L @G `gpg`kty nbbst. 5L @G ks g ks g ngsk` `gpgnkjkty km ngsk` `gpgnkjkty km 5L eovk`os gme km 5L eovk`os gme km ?L MPG eovk`os tbegy. Cbwovor?L MPG eovk`os tbegy. Cbwovor, tco ?L, tco ?L
DEE eovk`os gvgkjgnjo km tco rst pgrt bd >6>6 bmjy suppbrt g jkiktoe muinor bd ?L DEE ngmes gme DEE eovk`os gvgkjgnjo km tco rst pgrt bd >6>6 bmjy suppbrt g jkiktoe muinor bd ?L DEE ngmes gme mb @Gmb @G
notwoonotwoom ?L ngmes. m ?L ngmes. Ucks eovk`o jkiktgtkbm eolrgeos tco prg`tk`gj usor pordbrigm`o no`guso ?L DEE km Ucks eovk`o jkiktgtkbm eolrgeos tco prg`tk`gj usor pordbrigm`o no`guso ?L DEE km gg
jbw ngme + ?L UEE gt 0.? LCz gro mbt bptkigjjy utkjkzoe tblotcor. Pb, kd g jbw ngme ks `bmvortoe drbi 5L tbjbw ngme + ?L UEE gt 0.? LCz gro mbt bptkigjjy utkjkzoe tblotcor. Pb, kd g jbw ngme ks `bmvortoe drbi 5L tb
?L usglo, kt ks prodorgnjo tb suppbrt ?L @G km breor tb igxkikzo pordbrigm`o dbr tco ome usor.?L usglo, kt ks prodorgnjo tb suppbrt ?L @G km breor tb igxkikzo pordbrigm`o dbr tco ome usor.

Km geektkbm tb tco gnbvo jkiktgtkbm, ?L DEE gme 5L DEE ngmes Km geektkbm tb tco gnbvo jkiktgtkbm, ?L DEE gme 5L DEE ngmes gro `binkmoe wktc E@ kmstoge bd @G,gro `binkmoe wktc E@ kmstoge bd @G,
rosujtkml km >6-06% jbwor ebwmjkma tcrbulcput dbr twb rosujtkml km >6-06% jbwor ebwmjkma tcrbulcput dbr twb rogsbms. Dkrst, kt ebos rogsbms. Dkrst, kt ebos mbt gjjbw dbr `biibmmbt gjjbw dbr `biibm
s`coeujkml, wck`c wbuje no pbssknjo wktc @G. s`coeujkml, wck`c wbuje no pbssknjo wktc @G. Po`bme, tcoro wkjj no g 0 eN `bvorglo jbss, no`guso @GPo`bme, tcoro wkjj no g 0 eN `bvorglo jbss, no`guso @G
roqukros hust bmo upjkma wcorogs E@ roqukros twb sopgrgto upjkmas.roqukros hust bmo upjkma wcorogs E@ roqukros twb sopgrgto upjkmas.

Dkluro < kjjustrgtos tco MPG `gso eos`rknoe gnbvo. Kt scbws Dkluro < kjjustrgtos tco MPG `gso eos`rknoe gnbvo. Kt scbws tcgt jbw-ngme ?L wktcbut ?L tcgt jbw-ngme ?L wktcbut ?L @G eolrgeos@G eolrgeos
tco ome usor pordbrigm`o ny roeu`kml tco muinor bd `grrkors tcgt `gm no gllrolgtoe dbr og`c ome usor.tco ome usor pordbrigm`o ny roeu`kml tco muinor bd `grrkors tcgt `gm no gllrolgtoe dbr og`c ome usor.
@bmsoquom@bmsoquomtjy, tcoro ks mb iorkt tjy, tcoro ks mb iorkt km uskml km uskml EPP dbr su`c MPG EPP dbr su`c MPG eopjbyiomeopjbyiomts.ts.
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Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

Dkluro <. MPG `gso8 ?L km DEE Dkluro <. MPG `gso8 ?L km DEE jbw ngmes eolrgeos ome usor pordbrigm`o wktcbut ?L @G, rosujtkml km mbjbw ngmes eolrgeos ome usor pordbrigm`o wktcbut ?L @G, rosujtkml km mb
nomot dbr oipjbykml EPP.nomot dbr oipjbykml EPP.

Km `bmtrgst, tco kmtrbKm `bmtrgst, tco kmtrbeu`tkbm bd @G wktc ?L ks eu`tkbm bd @G wktc ?L ks g lbbe rogsbm tb uso EPP wktc PG, g lbbe rogsbm tb uso EPP wktc PG, skm`o kt kiprbvos ?Lskm`o kt kiprbvos ?L
`bvor`bvorglo gme g``oss glo gme g``oss tb tco ?L `bro gme tb tco ?L `bro gme gssb`kgtoe mow sorvk`os, gs eopk`toe km Dkluro 3.gssb`kgtoe mow sorvk`os, gs eopk`toe km Dkluro 3.

Dkluro 3. PG `gso8 ?L DEE wktc Dkluro 3. PG `gso8 ?L DEE wktc @G gme EPP prbvkeos `jogr nomots km ?L `bvorglo@G gme EPP prbvkeos `jogr nomots km ?L `bvorglo

@G 9 @grrkor gllrolgtkbm@G 9 @grrkor gllrolgtkbm

E@ 9 Eugj `bmmo`tkvktyE@ 9 Eugj `bmmo`tkvkty

?L-0?66?L-0?66

5L->7665L->766

5L-73665L-7366
..

@G@G

E@E@

?L-0?66?L-0?66

5L-73665L-7366
..

E@E@?L->766?L->766 5L->7665L->766

5L-73665L-7366
.. @G@G

5L-73665L-7366
.. E@E@

?L->766?L->766

KKm  m  00..?  ?  LLCCz  z  ??L  L  ̀̀ bbvvoorrggllo  o  ggrroogg BBuuttsskkeeo  o  00..?  ?  LLCCz  z  ??L  L  ̀̀ bbvvoorrggllo  o  ggrroogg
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tcrbulcput umtkj eovk`os suppbrt ?L @Gtcrbulcput umtkj eovk`os suppbrt ?L @G

notwoom DEE gme 0.? LCz UEEnotwoom DEE gme 0.? LCz UEE

?L DEE jbw ngme eolrgeos usor?L DEE jbw ngme eolrgeos usor

tcrbulcput euo tb jbwor E@ tcrbulcput euo tb jbwor E@ pordbrigm`opordbrigm`o

`bipgroe tb @G`bipgroe tb @G
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Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

EPP to`cmk`gj sbjutkbm spo`kd`sEPP to`cmk`gj sbjutkbm spo`kd`s
Bmo bptkbm ks dbr EPP tb uso g skmljo scgroe ngsongme `gre dbr 5L gme dbr ?L, wck`c bnvkbusjy pro`jueos gBmo bptkbm ks dbr EPP tb uso g skmljo scgroe ngsongme `gre dbr 5L gme dbr ?L, wck`c bnvkbusjy pro`jueos g
iujtk-vomebr sbjutkbm dbr 5L gme ?L. Uco btcor bptkbm ks tb aoop tco oxkstkml 5L ngsongme gme gee g mowiujtk-vomebr sbjutkbm dbr 5L gme ?L. Uco btcor bptkbm ks tb aoop tco oxkstkml 5L ngsongme gme gee g mow
?L ngsongme. Uco s`coeujkml notwoom tco twb ngsongme dum`tkbms ks tcom ngsoe bm g dgst Sp kmtordg`o?L ngsongme. Uco s`coeujkml notwoom tco twb ngsongme dum`tkbms ks tcom ngsoe bm g dgst Sp kmtordg`o

notwoom 5L gme ?L. Ucks kmtordg`o ks mbt bpom gme wbras bmjy dbr g skmljo vomebr, sb @PVs iust uso tconotwoom 5L gme ?L. Ucks kmtordg`o ks mbt bpom gme wbras bmjy dbr g skmljo vomebr, sb @PVs iust uso tcosgio vomebr km 5L gme ?L kd tcoy uso EPP (Dkluro ;).sgio vomebr km 5L gme ?L kd tcoy uso EPP (Dkluro ;).

Dkluro ;. Uco twb Dkluro ;. Uco twb prkigry ngsongme bptkbms dbr EPPprkigry ngsongme bptkbms dbr EPP

G prkigry G prkigry pordbrigm`o ̀ bmskeorpordbrigm`o ̀ bmskeorgtkbm dbr EPP ks gtkbm dbr EPP ks tco ro`bmlurgtkbtco ro`bmlurgtkbm tkio. m tkio. Dkluro 76 kjjustrgtos skiujgtkbmsDkluro 76 kjjustrgtos skiujgtkbms
dbr EPP wktc 766 is, dbr EPP wktc 766 is, 76 is gme 76 is gme 7 is `bbrekmgtkbm gme g 7 is `bbrekmgtkbm gme g stgtk` spjkt dbr rodstgtk` spjkt dbr rodorom`o. Uco skiujgtkbms gssuioorom`o. Uco skiujgtkbms gssuio
nursty 5 Inkt pg`aot trgmsiksskbm, wck`c ks nursty 5 Inkt pg`aot trgmsiksskbm, wck`c ks `biibm dbr won nrbwskml. Pbio <6% bd eovk`os gro gssuioe`biibm dbr won nrbwskml. Pbio <6% bd eovk`os gro gssuioe
tb no 5L gme 06% gro ?L.tb no 5L gme 06% gro ?L.

Uco rosujts scbw tcgt EPP prbvkeos g `jogr kiprbvoiomt km usor egtg rgtos gt gjj tkios`gjos `bipgroe tbUco rosujts scbw tcgt EPP prbvkeos g `jogr kiprbvoiomt km usor egtg rgtos gt gjj tkios`gjos `bipgroe tb
tco xoe spjkt. Uco ighbrkty bd tco lgkm ks tco xoe spjkt. Uco ighbrkty bd tco lgkm ks gppgromgppgromt uskml 766 is EPP, t uskml 766 is EPP, wktc 76 is EPP bmjy prbvkekml gmwktc 76 is EPP bmjy prbvkekml gm
oxtrg ?% lgkm gme 7 is EPP g oxtrg ?% lgkm gme 7 is EPP g durtcor >% lgkm. Uco durtcor >% lgkm. Uco rosujts `gm no oxpjgkmoe gs dbjjbwsrosujts `gm no oxpjgkmoe gs dbjjbws8 Dooeng`a jbbps8 Dooeng`a jbbps
gme gjjb`gtkbm ̀ y`jos km gme gjjb`gtkbm ̀ y`jos km 5L (Vcysk`gj Ebwmjkma @bmtrbj @cgmmoj 5L (Vcysk`gj Ebwmjkma @bmtrbj @cgmmoj (VE@@C), @cgmmoj Wugjkty Kmek`gtbr (@WK),(VE@@C), @cgmmoj Wugjkty Kmek`gtbr (@WK),

^gma Kmek`gtbr (^K), Gutbigtk` ^opogt ^oquost (G^W)) rum bm gm gpprbxkigto 76 is `y`jo, sb tcgt EPP wktc^gma Kmek`gtbr (^K), Gutbigtk` ^opogt ^oquost (G^W)) rum bm gm gpprbxkigto 76 is `y`jo, sb tcgt EPP wktc
joss tcgm g joss tcgm g 76 is porkbe prbvkeos mb igtorkgj lgkms. 76 is porkbe prbvkeos mb igtorkgj lgkms. DurtcoribrDurtcoribro, km o, km toris bd usglo pgttorms, tco dbjjbwkmltoris bd usglo pgttorms, tco dbjjbwkml
ks truo8ks truo8

• • Kd tcoro ks Kd tcoro ks hust bmo br g hust bmo br g dow nursty usors tcgt dow nursty usors tcgt iklct ibtkvgto iklct ibtkvgto g dgst rg dgst ro`bmlurgtkbmo`bmlurgtkbm, tcks ks , tcks ks mbt gm mbt gm kssuokssuo
no`guso tco eymgik` `gpg`kty ks mbt dujjy utkjkzoe.no`guso tco eymgik` `gpg`kty ks mbt dujjy utkjkzoe.

• • Kd tcoro grKd tcoro gro g jbt bo g jbt bd nursty usors, tco dujj d nursty usors, tco dujj egtg `gpg`kty `gm negtg `gpg`kty `gm no usoe wktc tco 766 is gjjo usoe wktc tco 766 is gjjb`gtkbm tkio.b`gtkbm tkio.

• • Kd tcoro Kd tcoro gro ?L gro ?L spooe tosts spooe tosts nokml pordbrioe, tcoso tgao nokml pordbrioe, tcoso tgao sovorgj so`bmes gme, sovorgj so`bmes gme, glgkm, tco 766 isglgkm, tco 766 is
ro`bmlurgtkbm tkio ks ibro tcgm geoqugto.ro`bmlurgtkbm tkio ks ibro tcgm geoqugto.

55LL ??LL

^D^D

SpSp
5L/?L5L/?L

^D^D

Aoop oxkstkml 5LAoop oxkstkml 5L

ngsongme umktngsongme umkt

Nrkml mow `biibmNrkml mow `biibm

ngsongme umktngsongme umkt

•• EPP `gm uso scgroeEPP `gm uso scgroe

ngsongme `gre dbr 5Lngsongme `gre dbr 5L

gme ?Lgme ?L

•• EPP `gm uso ekddoromtEPP `gm uso ekddoromt

ngsongme `gres dbr 5Lngsongme `gres dbr 5L

gme ?L, gme Spgme ?L, gme Sp
kmtordg`o notwoomkmtordg`o notwoom



  

7676 \ckto pgpor\ckto pgpor

Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

Dkluro 76. Uco rojgtkvo kipg`t bd EPP ro`bmlurgtkbm tkio bm usor Dkluro 76. Uco rojgtkvo kipg`t bd EPP ro`bmlurgtkbm tkio bm usor tcrbulcputtcrbulcput

EPP dbr >L, 0L gme 5L to`cmbjblkosEPP dbr >L, 0L gme 5L to`cmbjblkos

EPP `gm gjsb no EPP `gm gjsb no kipjoiomtkipjoiomtoe notwoom >L, 0L gme 5L oe notwoom >L, 0L gme 5L rgekbs, omgnjkml jolg`y to`cmbjblkos tb suppbrtrgekbs, omgnjkml jolg`y to`cmbjblkos tb suppbrt
oxkstkml eovk`os wckjo igxkikzkml tco uso bd spo`trui dbr ?L. Ucks ks kipbrtgmt no`guso ibst @PVs stkjjoxkstkml eovk`os wckjo igxkikzkml tco uso bd spo`trui dbr ?L. Ucks ks kipbrtgmt no`guso ibst @PVs stkjj
rum tcoso to`cmbjblkos gs tcoy rum tcoso to`cmbjblkos gs tcoy eopjby ?L.eopjby ?L.

\ktc iu`c spo`trui \ktc iu`c spo`trui cgvkml provkbusjy noom rodcgvkml provkbusjy noom rodgrioe tb 5L, kt grioe tb 5L, kt ks vktgj tb gks vktgj tb g`ckovo tco cklcost o`kom`y`ckovo tco cklcost o`kom`y
wcom gppjykml spo`trui scgrkml wcom gppjykml spo`trui scgrkml tb tco rojgtkvojy sigjj gibumt bd roigkmkml >L gme tb tco rojgtkvojy sigjj gibumt bd roigkmkml >L gme 0L ngmewketc. 5L-?L0L ngmewketc. 5L-?L
EPP nukjes bm tco `biibm muiorbjbly bd JUO gme M^. EPP dbr >L gme 0L usos ekoromt eymgik` scgrkmlEPP nukjes bm tco `biibm muiorbjbly bd JUO gme M^. EPP dbr >L gme 0L usos ekoromt eymgik` scgrkml
io`cgmksis. Gppjykml EPP bm >L-0L, >L-5L, 0L-5L gme 5L-?L bm ekstkm`t `grrkors roeu`os sklmgjkmlio`cgmksis. Gppjykml EPP bm >L-0L, >L-5L, 0L-5L gme 5L-?L bm ekstkm`t `grrkors roeu`os sklmgjkml
bvorcoges gme igxkikzos bvorgjj o`kom`y.bvorcoges gme igxkikzos bvorgjj o`kom`y.

EPP gjklms wktc EPP gjklms wktc tco pgttorms bd suns`rkptco pgttorms bd suns`rkptkbm gme trg` iklrgtkbm drbi bmo rgekb g``oss to`cmbjbly tbtkbm gme trg` iklrgtkbm drbi bmo rgekb g``oss to`cmbjbly tb
gmbtcor, wck`c ks typk`gjjy lbvormoe ny tco gbregnkjkty bd eovk`os. Omgnjkml jgrlo muinors bd 5L usors tbgmbtcor, wck`c ks typk`gjjy lbvormoe ny tco gbregnkjkty bd eovk`os. Omgnjkml jgrlo muinors bd 5L usors tb
eymgik`gjjy tgp kmtb tco rosbur`o pbbj provkbusjy eoek`gtoe tb >L gme 0L droos rosbur`os dbr tco lrbwkmleymgik`gjjy tgp kmtb tco rosbur`o pbbj provkbusjy eoek`gtoe tb >L gme 0L droos rosbur`os dbr tco lrbwkml

muinor bd ?L usors bm tco 5L-?L EPP `grrkor. Ucks gjsb prbto`ts >L, 0L gme 5L pordbrigm`o.muinor bd ?L usors bm tco 5L-?L EPP `grrkor. Ucks gjsb prbto`ts >L, 0L gme 5L pordbrigm`o.

Mbakg‛s EPP dogturos gme tco s`coeujo ks suiigrkzoe km Ugnjo 7.Mbakg‛s EPP dogturos gme tco s`coeujo ks suiigrkzoe km Ugnjo 7.

Ugnjo 7. Mbakg iujtk-to`cmbjbly EPP sbjutkbmsUgnjo 7. Mbakg iujtk-to`cmbjbly EPP sbjutkbms
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>L >L ‐‐ 0L 0L EPPEPP [os, >67;[os, >67;
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7777 \ckto pgpor\ckto pgpor

Mbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbutMbakg eymgik` spo`trui scgrkml dbr rgpke ?L `bvorglo rbjjbut

W&GW&G
EPP to`cmbjbly kipg`ts bm eovk`os gme EPP to`cmbjbly kipg`ts bm eovk`os gme oxkstkml motwbra eopjbyioxkstkml motwbra eopjbyiomts, wck`c rgksos g omts, wck`c rgksos g muinor bd quostkbmsmuinor bd quostkbms
gnbut tco to`cmbjbly. Uco igkm quostkbms ggnbut tco to`cmbjbly. Uco igkm quostkbms gme gmswors rolgrekml EPP to`cmbjbly gro suiigrkzoe kmme gmswors rolgrekml EPP to`cmbjbly gro suiigrkzoe km
Dkluro 77.Dkluro 77.

Dkluro 77. Uco prkigry quostkbms gme gmswors bm Dkluro 77. Uco prkigry quostkbms gme gmswors bm EPP usgloEPP usglo

@bm`juskbms@bm`juskbms
EPP ks g EPP ks g cgmey sbjutkbm dbr oxknjy rodgrikml spo`trui tb ?L. Mbakg suppbrts cgmey sbjutkbm dbr oxknjy rodgrikml spo`trui tb ?L. Mbakg suppbrts EPP notwoom gjjEPP notwoom gjj
to`cmbjblkos drbi >L tb ?L. Uco ibst to`cmbjblkos drbi >L tb ?L. Uco ibst gevgm`oe EPP sbjutkbm ks gvgkjgnjo notwoom 5L gme ?L, gevgm`oe EPP sbjutkbm ks gvgkjgnjo notwoom 5L gme ?L, wcorowcoro
spo`trui scgrkml ks gjrogey spo`koe gs gm bptkbm ny 0LVV. EPP prbvkeos dujj nomots wcom `binkmoespo`trui scgrkml ks gjrogey spo`koe gs gm bptkbm ny 0LVV. EPP prbvkeos dujj nomots wcom `binkmoe
wktc PG gr`ckto`turo dbr igxkiui `bvorglo gme mow ?L wktc PG gr`ckto`turo dbr igxkiui `bvorglo gme mow ?L sorvk`os, gme wktc sorvk`os, gme wktc @G dbr igxkiui @G dbr igxkiui ?L egtg rgtos.?L egtg rgtos.
Uco `binkmgtkbm bd tcoso to`cmbjblkos wkjj no gvgkjgnjo km eovk`os tbwgres tco ome bd >6>6. Mbakg‛s rgekbUco `binkmgtkbm bd tcoso to`cmbjblkos wkjj no gvgkjgnjo km eovk`os tbwgres tco ome bd >6>6. Mbakg‛s rgekb
prbeu`ts gro eosklmoe tb suppbrt EPP, sb ikjjkbms bd oxkstkmprbeu`ts gro eosklmoe tb suppbrt EPP, sb ikjjkbms bd oxkstkml ^D umkts l ^D umkts `gm no uplrgeoe tb suppbrt ?L gme`gm no uplrgeoe tb suppbrt ?L gme
EPP. Pkikjgrjy, oxkstkml JUO ngsongme ibeujos `gm no usoe dbr EPP wktc ?L.EPP. Pkikjgrjy, oxkstkml JUO ngsongme ibeujos `gm no usoe dbr EPP wktc ?L.

7676

Ks tcoro gmy spo`kdk` eovk`oKs tcoro gmy spo`kdk` eovk`o

mooeoe dbr EPP2mooeoe dbr EPP2

Gjj JUO eovk`os suppbrt EPP (ng`awgres ̀ bipgtknjo). Gjj Gjj JUO eovk`os suppbrt EPP (ng`awgres ̀ bipgtknjo). Gjj ?L?L

eovk`os wkjj eovk`os wkjj suppbrt EPP suppbrt EPP eurkmleurkml >6>6>6>6

\cgt ks t\cgt ks tco ikmkiui JUOco ikmkiui JUO

`gpg`kty jbss `gusoe ny EPP2`gpg`kty jbss `gusoe ny EPP2

?L nrbge`gs?L nrbge`gst tgaos t tgaos 7 is7 is bd >6 isbd >6 is kipg`tkml Jkipg`tkml JUO `gpg`ktyUO `gpg`kty

up tb ?%. Btcor ̀ bmtrbjs ̀ gm km`rogso tco kipg`t.up tb ?%. Btcor ̀ bmtrbjs ̀ gm km`rogso tco kipg`t.

Cbw dgst EPP ks mooeoe2Cbw dgst EPP ks mooeoe2
Eymgik` gjjb`gtkbm wktc 766 isEymgik` gjjb`gtkbm wktc 766 is `y`jo prbvkeos tco v`y`jo prbvkeos tco vgstgst

ighbrkty bd tco EPP nomodktsighbrkty bd tco EPP nomodkts

\com wkjj eovk`os suppbrt\com wkjj eovk`os suppbrt

DEE + PG + @G2DEE + PG + @G2

Eovk`os wkjj suppbrt tcks sot bd Eovk`os wkjj suppbrt tcks sot bd dogturos ibrdogturos ibro wkeojy kmo wkeojy km

>6>7>6>7

Ks `biibm JUO & ?LKs `biibm JUO & ?L

ngsongme mooeoe dbr EPP2ngsongme mooeoe dbr EPP2

Mb, g EPP sbjutkbm ̀ gm Mb, g EPP sbjutkbm ̀ gm uso twb sopgrgto ngsongme ̀ gresuso twb sopgrgto ngsongme ̀ gres

wktc dgst Spwktc dgst Sp kmtordg`o nokmtordg`o notwoom tco twb ngsotwoom tco twb ngsongmesngmes

Ks iujtkvKs iujtkvomebr Jomebr JUO ‐UO ‐ ?L EPP?L EPP
dogsknjo2dogsknjo2

Mb, EPP iust uso tco sgio vomebr km JUO gme km ?LMb, EPP iust uso tco sgio vomebr km JUO gme km ?L

  

Ks EPP dogsknjo dbr >L gme 0LKs EPP dogsknjo dbr >L gme 0L

rodgrikml2rodgrikml2

Mbakg cgs EPP sbjutkbm dbr gjj toMbakg cgs EPP sbjutkbm dbr gjj tò cmbjbly rodgri`cmbjbly rodgrikmlkml dbr >L,dbr >L,

0L, 5L gme ?L.0L, 5L gme ?L.



  

Gnbut MbakgGnbut Mbakg

\o `rogto tco to`cmbjbly tb `bmmo`t tco wbrje. Bmjy Mbakg bors g `biprocomskvo pbrtdbjkb bd motwbra oqukpiomt, sbdtwgro, sorvk`os gme jk`omskml bppbrtumktkos g`rbss\o `rogto tco to`cmbjbly tb `bmmo`t tco wbrje. Bmjy Mbakg bors g `biprocomskvo pbrtdbjkb bd motwbra oqukpiomt, sbdtwgro, sorvk`os gme jk`omskml bppbrtumktkos g`rbss
tco ljbno. \ktc bur `biiktiomt tb kmmbvgtkbm, erkvom ny tco gwgre-wkmmkml Mbakg Nojj Jgns, wo gro g jogeor km tco eovojbpiomt gme eopjbyiomt bd ?L motwbras.tco ljbno. \ktc bur `biiktiomt tb kmmbvgtkbm, erkvom ny tco gwgre-wkmmkml Mbakg Nojj Jgns, wo gro g jogeor km tco eovojbpiomt gme eopjbyiomt bd ?L motwbras.

Bur `biiumk`gtkbms sorvk`o prbvkeor `ustbiors suppbrt ibro tcgm 4.5 nkjjkbm suns`rkptkbms wktc bur rgekb motwbras, gme bur omtorprkso `ustbiors cgvo eopjbyoe bvorBur `biiumk`gtkbms sorvk`o prbvkeor `ustbiors suppbrt ibro tcgm 4.5 nkjjkbm suns`rkptkbms wktc bur rgekb motwbras, gme bur omtorprkso `ustbiors cgvo eopjbyoe bvor
7,066 kmeustrkgj motwbras wbrjewkeo. Gecorkml tb tco cklcost otck`gj stgmegres, wo trgmsdbri cbw pobpjo jkvo, wbra gme `biiumk`gto. Dbr bur jgtost upegtos, pjogso vkskt7,066 kmeustrkgj motwbras wbrjewkeo. Gecorkml tb tco cklcost otck`gj stgmegres, wo trgmsdbri cbw pobpjo jkvo, wbra gme `biiumk`gto. Dbr bur jgtost upegtos, pjogso vkskt
us bmjkmo www.mbakg.`bi gme dbjjbw us bm Uwkttor Fmbakg.us bmjkmo www.mbakg.`bi gme dbjjbw us bm Uwkttor Fmbakg.

Mbakg ks g rolkstoroe trgeoigra bd Mbakg @brpbrgtkbm. Btcor prbeu`t gme `bipgmy mgios iomtkbmoe corokm igy no trgeoigras br trgeo mgios bd tcokr rospo`tkvo bwmors.Mbakg ks g rolkstoroe trgeoigra bd Mbakg @brpbrgtkbm. Btcor prbeu`t gme `bipgmy mgios iomtkbmoe corokm igy no trgeoigras br trgeo mgios bd tcokr rospo`tkvo bwmors.

© >6>6 Mbakg© >6>6 Mbakg
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G^W G^W Gutbigtk` Gutbigtk` ^opogt ^opogt ^oquost^oquost

@G @G @grrkor @grrkor GllrolgtkbmGllrolgtkbm
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@PV @PV @biiumk`gtkbm @biiumk`gtkbm Porvk`o Porvk`o VrbvkeorVrbvkeor
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OV@ OV@ Ovbjvoe Ovbjvoe Vg`aot Vg`aot @bro@bro
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^D ^D ^gekb ^gekb Droquom`yDroquom`y

^K ^K ^gma ^gma Kmek`gtbrKmek`gtbr

PG PtgmegjbmoPG Ptgmegjbmo

UEE UEE Ukio Ukio Ekvkskbm Ekvkskbm EupjoxEupjox
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